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GROUP A (New Course)

Howi questions 1+10=10
bothe following questions
(ci)

)

vhat is meant by instantiation %
nstant at 11)]1 q=E ‘Y’T Ay

(b}

5 2 ) (c)

Vhat do vou understand by construetor overloading
“onstructor overloading =03 CANCITIE

d ~e * w o o . . . Y .
What is the significancu of tellg() function ? (d]

1 R e e vl r\‘ “E1Y
cellz() function-#9 < i <Rl

; TP
i dyn > me v allucation -
What is meant by dynamic memory Uloci .

Dyvnamic memory allocation L <1 EE?Y

' ' is ’ -
What values will the elements of an array ‘l)w. when it "
declured if it does not include an initializer \ )
ot B S Tk =11 B o M A
< &0 “3a declare 0 5 9= initializer TEEE T, 1!
S A cl
sjzile EAmlsE f<?- ek o
Define TOP.
A h
TOP deal S hj
: e a relati D
What does the select operation select from a relation
i «raE selec 3 31 select T .
g% Relation (KGF !:-Lh: ct operation < -
L]

What is minterm ?

Answer the following questions -

1o

. T G o . A e
ﬁT?,bﬁ LHEBTEE TEd e ¢

What 1s meant by
Data

data Encapsulation and Abstractior
Encapsulation % Abstraction 57 &1 &g e
Write the dilference between call- by-value and call-by-reft

Cull-by-value ¢ call- bysreference €67 WET sL€=) s

How does inheritance inffuence the worldng o constr

and destructors ?

In heritance 2% constructor ¢ destrue Lot
Write the meaning of the file mode parameters

iossate.

fusap

osate-S9 ws oy

. £ .
File mode purameter $@ jos:app &

Differentiate bBetween the linear and binary scurch techn

Lineur & binary scarch technique Wit T30 wige) o

w

Differentiate between Candidate and. Primary K

context of RDBMS
ROBMS-51 =¥

Key

% Primary Key € Candidate Key-$3 w0ag ofiefs;

What is the difference between WHERE and HAVING cla
WHERE € HAVING clause & Sigdi 2l 1y
Vcrif\' the following algebraically :

Tromrss sz frsa we sidms =

A+AB+AB -A+B

Obtain the Boolean Expression for the logic eircuit shown b

famd logic circuit~a 51 Boolean Expression (&3 <7

.
Minterm <17 y o ‘,__ ’
) . . A [ "
. W.lmt is a switch ? B —

Switch # . ——
What is RJ-4& connector ? : . , - o
R J-45 connector FY .

(2] 27’1‘:05(5.’3; {BENG) [3] c
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What is WEB 2:0 ?
WEB 2:0 §t? -

Rewrite the followin% program after removing the syntactical

errors (if any) 3

s cnaa geof (2 aee) w7 e ARIn T 2

"# include [iostream. h]

class PAYNOW

{ .
int Charge;

PUBLIC :
void Raise () {cin<<Charge;}
void Show {cout<<Charge;}

void main ()

PAYNOW P;
P. Raise ();
Show ();

} s

Answer the questions (1) and (i) after going through the
following class : 1+2=3

7 class-B7 fofare (i) o (i) emafem CERGCE
class Maths
{ char Topic [20];
int Weightage; _
-public; ) . . . . N
Maths () // Function 1
{ strcpy (Topic, “Matrix”);
Weightage = 20;
cout<<“Topic Activated”,

}
~ Maths () // Function 2
{ cout<<“Topic Deactivated;
}
b
(BENG) ' © 4]

(c)

(d)

(i) Name the specific features of class shown by Functi
and Function 2 in the above example.

T TWEAIfire Function 1 € Function 2-(% ¢
class-a3 % =8 @

(i) How would Function 1 and Function 2 get cxecutec

' . Function 1 @ Function 2 FOIR Fdeg 7@ ‘

Design an algorithm that will allow you to insert a data
NAM in the ith posxtmn in a single dimensional array| NA
having n element (i<n).

(i<n)n R4 Gl At RITER 2o NAMES~S -G FT uﬁﬁ

_item NAM S¥$@ T4 & 43 algorithm design T

|
o
Write a function in C++ to perform a DELETE operation

dynamically allocated queue considering the folla
descnptlon : y ‘

ﬁ'CFEI ?Iﬁ’?ﬂﬁ ﬁ@b_'ﬁ FE GFf6 dynamically T4 = queue-(9 ‘DEI
FRE =9 TR & C++-9 90 function AT 3 1]

Struct Node |

{ |
float U,V; f
Node *Link;

I3 .

. ¢class QUEUE.

{

Node *Rear, *Front;
public : :
QUEUE () {Rear = NULL; Front = NULL;}
void INSERT ()
void DELETE ()
~QUEUE ();
b ‘

27T CSCA (BENG) (5] (



or /533t , _ or/ @24t

; | ite bri LAN, MAN and WAN.
\ line of text is read from the input terminal into a stack. ' Write briefly about
Vrite an algorithm to output the string in the reverse order. LAN, MAN € WAN-43 R weweel el
M . . 3 | 3 ! : ) )
npui terminal cmﬁ\@qﬂ% R BGIET| EY qzﬁﬁ} stack~q T TE; (h) What is web‘ hosting ? Name jfour dllfferent types‘otl' ;
. tringl® BB T output IR A6 TG 3 algorithm, G| . - | ~_hosting. , !

' ’ u
Web hosting 12 57/ Rfeq =1 web hosting-aq =¥ Cﬂlt‘-'lﬂl
Vhat does union operation do ? th{t are the conditions to ' L

; . ' or /934! [
arry out union operation ? 1+2=3 ' 5
| e |
Inion operation ¥ ¥E? Union operation~4a @ (FiF “[&afH ! Write short notes on the. following : . f L
QAlss : , |
| - i s eieslr B e BiF @l 8 :
Or /gt . .
' Lo (i) Telnet ,
/rite a query on the travellers table whose output will exclude E (i) GPRS . !
Il travellers with a rating <=1000, unless tl.'ley are located in « | % {) FTP 1
ikkim, . 3 ‘ |
ra:vellcrs table-q7 Bv@ R query @Al (T 32 travellers~aq - | -4. Define a class Employee in C++ with the following 1
ating <=1000 107 output-4 Wf»‘rc@:mzﬁ@mt Sikkim-@aizml . specification :
o : _ _ isa fR=meam et C++-9 @30 class Employee define L1 ¢
'raw logic circuit diagram for the following expression : 3 P class i “4 R

£ Private members :

4 FfE & logic circuit diagram TIF4 FEl 2 . name 20 characters vy

Y=ab+bec+ca

e subject 10 characters
T . Or/ &%l - L + - Basic, DA, HRA float

. ; " | . salary float ;
erify the following expression uging truth table. 3 Calculate () function computes the salary and return it.
ruth tabl;—é{;f srgm Xiw 12% Fopel #ifSe @ 2 salary is sum of Basic, DA and HRA

+Z)=XY +

‘public members :
'ReadData () function accepts the data values and invoke
' Calculate () function. .

etwork topology 1? Star topology-3 776 T4l @ 7/ <ifRat Teal | ' “ fDispData {) function prints the data on the screen.

e ——

‘hat is network topology ? Write two advantages and two
sadvantages of Star topology. 3

JENG) (6] | 27T;CSCA (BENG) LT f



. 7 Or /g4l
der the following declaration and answer the questions given
- . 4
lass § Rt @ feare asiufom Ber s ¢
‘. . A
sted

NPUT (int);
JUT ();

BBB private AAA ; . '

sted ' ' ¢

: 2-void INDATA (int, mt),
JUTDATA ();

"CCC : public'BBB

JISP (void);

[ame the base class and derived class of the. class BBB.

lass BBB-d base class '€ derived class@d J9 ml

BENG) ‘ (8]

(i) Name the data member(s) that can be accessed from fun
DISP().

DISP() function (¥TF access ¥4 data member (&)= A9 ¢

(iii) Name the member function(s), which can be accessed [ror
objects of clasq CCcC. ‘

Class CCC-—‘R[ object-¢fdl (4T access ?Tf?ﬁ member | fun
(ef)= AT Gt : ‘.

(iv) Is the member function OUT () accessible by the ob_;ccts ¢
class BBB ? }

[ i
Class BBBE- object @f@ @El member function ' OU
" accessible T 2

f
What is a copy constructor ? Discuss the various sﬁuanc{
a copy constructor is automatically invoked. 1

_Cop1y2 constructor 91? Y& Copy constructor FuferreiE mvok

SRR (G SN I | |
Or/W‘-’fW . i

Write a program in C++ to print the factorlal of a glver} nu
using a constructor.

Constructor 4929 I@ INATFRR (O GF6 TR hctorlal ®
QoRE G C++ (AT Tl |

What is a stream ? Name the streams generally used for file

Stream #1? File 1/ O~G3 A] A4ie 9GS stream SR AW G

Or /gl

. Write a function in C++ to count the nurnbcr of lowe

alphabets present in a text file “BOOK.TXT”.

| Text file “BOOK.TXT"-4q Jowercase alphabet\?ﬁ"f count FICO
" @36 function I

27T CSCA (BENG) (9]



-a function in C++ to find the sum of diagonal elements fr om

'+ dimensional array of type float. Use the array and its size as
neters with 1T0at as its return typc. 4

f ﬂoat type G3f5 e diagonal (ﬁﬁ@ﬁﬁ QITF (JF FACS CH+-
5 functxon M| Float & «fbg return type I “EHA R A size
rameter &A@ IR T |

Or/ qY '

* a prograr in C++ to implement Bmary Search algorithm for °

mbers stored in an array. | 4

nwﬁao 3 aasﬁwa Binary Search *%f% <ga Fre o
2N e |

BENG) | ‘ [1-01 '

SR

8.
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GROUP B (Old Course)

Answer the following questions : 1x10:

fea eafem Tea wis ¢

(@) What is identifier ? -~
| Identifier F1?

(b) What do you mean by function ? * -
Function TS 1 @ARI?

() What are the two ways [or passing an object to a fpurcti;
@R 7fo el s object-F function-4 AT W ? i

(d) Write any two types of Computer Network.
. Computer GIBSAER (¥ (7 720 &= Tl

(e} What is class ?
i Class ¥1°

() Explain scope resolution operator (:) in C++, : ;
C++-9q scope resolution operator (::)=44 ﬁ'flm BRI "T@‘[l

i

(g9) What do you mean by traversal of an array ?
: GFD R GE traversal J°CS F1 @RI

(h) Define Bridge. ; ‘
Bridge F e @ : P '
i) What is Compufcr Network ?

\ L ; ‘

| Computer Network S? -

1“

() Explain Bandwidth.

Ji . Bandwidth~a7 REEIEMFRAL
‘ [11]. o #C

| b

It |



slain the followiné questions :

o L B e B R I I P A

How while loop is different from do ..
= While loop~4a W% do ...

. while loop ?
while loop-<3 219 A2

Find the error(s) in the following program :
s ceia g (af) 9 @

include <iostrem.h>
void main-

{ .

X .= 20;

. cout <<“X=">>X;
}
How does a member function differ from an ordinary function ?

436 Member function AR 5 function- (A RFeiE e

What is the difference between public and private members of
a class? - '

- . i§ . ' ' ;‘
%16 Class~43 public 6 private member-47 N4 LT U2

How does inheritance influence the working of constructor
and destructors ?

Inheritance l%\:a.iﬁ constructor € destructor-99 T =eifs ¥ ¢

How does a derived class can get access privilege for a private
member of the base class ? ‘

«3f6 Derived class, base class~<q 933 private member-¢ &
PO access~@ ReRPR i /i ? ’ :

State two conditions under which Biné.ry Search is applicable. ‘

Binary Sedrch @I T@) ARG <1 /5 (2l |

"\ (BENG) [12]

2x10=20

L

10. (a)

(h) Given a stack as an array of 7 clements,' STAC
MQT ,__.Can M be deleted béfore T ? Give reas

: IACK:MOT _, 4
7 15 Somita e e <% stack, STA .
| oreTl ARE M-S TG I W 7sA AR 32 PR whie |

) What is hub.? Name the types of hub.
' Hub &2 Hub-@ AR @l

(j)v ‘Write two advantages of STAR topology.
STAR topology-¥ 75 FREE R e

|
!
|
|
|
1

Draw a flowchart to rcéd a number and find the su!;m Q
digits. ‘ |
=S w ~rs e FRABa wEef i F o 9w gz e
AL

{p) What is a structure 2 How is structure different froq:x ar
Write a structure specification that includes t.hree var1ab¥
of type int, called hrs, mins and secs. Call this strl.t—ct:l;qrei

1

. Structure 317G ¥ FH structure-ﬂ?;?ﬂi’.ﬁff e ir::t
7 [eqf6 551 hrs, mins '@ secs ‘5}'5?24@ @ time WNE struvc o

G IS W TR |

' (c) Write a program in C++ to input a number thm}lg;
keyboard and then to reverse the number and to print

| Keyboard- @ G TN Awe Wew w1 BCBEIE TP
Ct+-9 G5 (efiallsl Tl

| (d) Give an algorithm for the insertion operation in a ‘

implemented as an array.

Bl fZAra dae Red @6 queue-($ insertion operation-
. @36 algorithm CeTCT| ;

271;‘ CSCA (BENG) (13]
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e) What is ' inheritance ?. What are the various types of

gl mherltance in C++? x 3
!

' Inhentance Pl C++ [fey W inheritance ofe1 & e

b Wnte somc characteristics of Destructor 3

Destructor-43 F95afe @HR ﬁm TR | -
' { aies
: ! : J
g} Write a function in C++ to merge the contents of two sorted
arrays A and B into third array C, Assuming Array A and B
are sorted in asecendmg order. and the resultant array Cis |
also required to be in ascendmg order, 3

."AeBﬂ%ﬁﬁﬁ@WW@ﬁﬂﬂmwaﬁﬂWfCF@W
| _THﬁHWWC++-(E @30 function (7| .

'h)' Explain in briel about three a‘dvantagcs of“E—mail. 3 &

E-mail- feals ARam ﬁ'ﬂm ?{QﬁFL’J 6t a?c_?m

Deﬁne a class to represent a STUDDNT w1th the following
nembcrs ; 4
At (7eA member-4fF T STUDENT«ﬂa T 3l class I 7|
:}nvate members of class STUDENT

oll no, name, marks of MIL, English,. Physms, Chemlstry, Maths,
:otal (use suitable data type).

3ub11c memberb of class STUDENT o o
.ga.ddata {) : to read initial value | }
:a:ilculate () : to calculate total mgrks
:lis;p () : to display information. L

: |
‘Wrxte a pmgram in C++ to print the area of a rectangle w1th ngcn
length and breadth using a constructor i ; 4

tﬁfﬁﬂaﬁmemmﬂﬂmﬁwww%{ @awwﬁﬁﬁwcﬁw
constructor IR T tﬂﬁfﬁ‘ (e LTC‘*HI i

‘ :‘SCA(BENG] « '[14] a i %

13, Write a function in C++ to perform Insert operation
dynamically allocated Queue containing nam.es of students.

zrm 1 S AT SR 99 T I Queue-(S Insert oper

14,

27T CSCA (BENG)

|

|

|
Rl

?ﬂﬂ I T G C++9 G function G

| ) ' Or / g4t

‘erte a program in C++ to implement Bmary Search algori
'N numbers stored in an array

N e s ah XA Binary Search ?lﬁ'lf:“o IR TACS
CeeT R : .

Describe the three basic types of cables.
| [&7 <R T cable~4q REd I FAI|

I
. Or/ &g .

|

Wnte about any four services available in the 1nternet

Internet-4 TR (¥ (P BIF GAA ORI %m el

[15]




